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ooooood

oooooooooogono

[! LaTeX Error: There’s no line here to end. J

oooooooOoOOOOOON\\ODOOOOOOOOoOoOoOoOoOooooo

ooooooooo ()

! Argument of \texttt
<inserted text>

has an extra }.

\par
1.3 {\texttt}

92

gbooobooooboobooooboooonoobo

ugbogbogooaood

! Display math should end with $$.
<to be read again>

1.3 \[ abc $

\[OOODOOOOooooo\looooooooooooooooobooo
OO¢s0OOO0O0O0oOOOoO0OoDOOoOoOoDOoOoOoOooDoboOoOooDoO

oooooo

! Double subscript.
1.3 $ a_b_
c $

00000 a{b_c}0OOOooonQ

oooooon

! Double superscript.
1.3 $ a”b~
c $

Oo0000 a~{b~cy0O0O0oooono

$000

! Missing $ inserted.
<inserted text>

$
1.3 a

b

OO00O0ONracO000O0O00DOOO0ODOOOODDOOODOOODOOOO
Oooooo0oooDOo0oOooooOooooOsobboOoooDoboOooooDo

Do0DO00 () 000
(! Missing } inserted. W
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<inserted text>
}
1.3 $ \frac{1} $

ooboooooooooboobooOoooboooboooboooooooog

000000 () 000

! Too many }’s.
<recently read> }

1.3 \texttt{abcl}}

gboooboobooobgobooobooboo

ooooo

! Undefined control sequence.
1.3 8y = \loq
x$

gboobooboobobbooboobooboobobboboobo

oooobooog

Runaway argument?
{2 %

! Paragraph ended before \frac was complete.

ugbogbuoooobobbooboaobodaod



0 0O

Clock.Hour, [ Math.Sin,

Else, H Math.SquareRoot, [3,
ElseIf, MM Math.Tan,

EndSub, ¥ Program.Delay, 23

false, @ Step, 3

For, @A Sub, ¥

Goto, M@ Text . Append,

IF (Excel), D Text.ConvertToLowerCase,
If, @ Text.ConvertToUpperCase,
Math.Abs, Text.EndsWith,
Math.ArcCos, Text.GetCharacter,
Math.ArcSin, Text .GetCharacterCode,
Math.ArcTan, Text.GetIndex0f,
Math.Ceiling, Text.GetLength,
Math.Cos, Text.GetSubText,
Math.Floor, Text .GetSubTextToEnd, PO
Math.GetDegrees, Text.IsSubText,
Math.GetRadians, Text.StartsWith,
Math.GetRandomNumber, H, TextWindow.ForegroundColor, B
Math.Log, TextWindow.Read, [@
Math.Max, [, TextWindow.ReadNumber, B
Math.Min, A, TextWindow.Write, B
Math.NaturallLog, TextWindow.WriteLine, @
Math.Pi, true, [@

Math.Power, [, While, @

Math.Remainder, <,

Math.Round, [, > B8

54



20l6000000O000ODO 1

\,, 3

A\,

\alpha,
\arg, B3

\bar, B2
\beta,
\bigcap, B3
\bigcup, B3
\bmod, B3
\cap,
\cdot, B3
\cdots, B3
\chi,
\circ,
\cline, B3
\cong, B3
\cos, B0

\cup,
\ddots, B4
\deg, B3
\Delta,
\delta,
\det, BO

\dim, BQ

\div,
\documentclass,
\Downarrow, B3
\downarrow,
\ell,
\epsilon,

%)

\equiv, BO, BY
\eta,

\exp,
\footnotesize, B
\frac, B3
\Gamma, B3
\gamma,
\ge, B3

\hat, B2
\hline, B3
\Huge, G0
\huge, GO

\in,
\includegraphics, I3
\infty, B8,
\int, BO
\iota,
\item, B2
\kappa,
\label, £1
\Lambda,
\lambda,
\LARGE, B0
\Large, B0
\large, B0
\ldots, BH
\le, B

\left, B3
\Leftarrow,
\leftarrow,
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\Leftrightarrow, BY \Phi, B
\leftrightarrow, \phi,

\lim, \Pi,

\log, BA \pi, B3

\max, BO \pm, B3

\mbox, £@, I3 \pmod, B3

\min, BA \prod, B3

\mp, \Psi,

\mu, B3 \psi,
\multicolumn, B3 \quad, B2
\nearrow, \ref, €I

\neq, B3 \rho, B3
\newcommand, 2 \right, BQd
\newpage, \Rightarrow,
\ni, \rightarrow,
\normalsize, B0 \scriptsize, B0
\notin, \searrow,
\nu, \section,
\nwarrow, \Sigma,
\Omega, \sigma, B3
\omega, \sim,
\overbrace, B2 \sin,
\overleftarrow, B4 \small, BO
\overline, B2 \sqrt, B3
\overrightarrow, B2 \subsection,
\overset, &1 \subset,
\pageref, €1 \subseteq,
\paragraph, \subsubsection,
\partial, \sum, B3

\perp, \supset, B3
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\supseteq, B3
\swarrow,
\tableofcontents, I
\tan, B3

\tau, B3

\TeX, 2

\text, 03, Y
\textbf, B0
\textgt, B0
\textit, BO
\textrm, B0
\textsc, B0
\textsf, BO
\textsl, B0
\texttt, B0
\Theta,
\theta,
\times,
\tiny, BO

\to, GO
\underbrace, B4
\underline, 29, B2
\underset, &1
\Uparrow, B3
\uparrow,
\Updownarrow,
\updownarrow,
\Upsilon, B3
\upsilon,
\usepackage,

\varepsilon, B
\varphi,
\vdots, B3
\verb, £4
\widehat, B2
\widetilde, B2
\X1i,

\xi, B3

\zeta,

~, B2

-

o,

10pt,

11pt,

12pt,

align*0 O, €0
align O 0O, €0
amsmath 00000, B9
array O 0O, G2

BMP OO, €3

cases 0 O,
center 0 O, B0

description 0 O , B2
document 0 O,
dvipdfmx 00000, B3
dviDoOOoO,ea

enumerate [ O, B2

o7
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EPSO0O, I3

flushleft 0 O, &1
flushright 0 O , B0

gather*0 O, £0
gather O O, E0
graphicx OO 000, B3

hiresbb 0O 00O O, E3
itemize O O , B2
JPEGOO, 3

landscape,
logd OO, Bd

PDF OO, A3
pmatrix 0 0O, B9
PNG OO, L3

quotation O O , B
quote O O, B

small0 00O, B0

tabular 0 O, B3
TeXworks, 23
texoQo,ea

twocolumn,
underline 0 0 O, BO

vmatrix 0 O ,

xbbO O OO, B3

0000000, s8
0000000,
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000,

00, o
0000,
000000, m
0ooo, 2
00, o
00,2
00,es

00, En
00,em
00000, 6a
0000000000, m

000000, o
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00,60
00000,
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00,6
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0000000,
0000, e

000, mm
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